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6.1 — 6.3 Day TWO CYU: Median, Altitude, Angle Bisector, & Perpendicular
Bisector

/’ M Use when you get it right all by yourself \
S Use when you did it all by yourself, but made a silly mistake
H Use when you could do it alone with a little help from teacher or peer
£ Use when you completed the problem in a group v "
. X Use when a question was attempted but wrong (get help)

< N Use when a question was not even attempted 4
CONCEPTS BASIC | INTERMEDIATE | ADVANCED
Identifying special segments 1-4
Drawing special segments 5
Solving triangles with special 6-16 16
segments

1 - 4: Name the special segment.

1) ac 2) HE 3 4) PN
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5) Draw a triangle with an altitude outside the triangle-/r.‘
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6 — 9: Solve the triangle for the variables or parts of the triangles.
6) In AABC, DE is perpendicular bisector of AC withDon AC . If AD =2y +4, (D =y -12,
and m£EDC =5(x -12)°. Find the value of x and y. Find length of 4D,DC, and, AC .
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7) DB is an altitude of AADC , and mLDBC =(n* + 81)°. Find the value of n.
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8) DB and AF are medians. If BC=63%10, AB=*+3y, CE=6x+12, ED =2x+60, then
find the value of x and y, and the length of the segments.
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9) ¥8 is an altitude of AXYZ ,and m£YBZ ={6x -6)°. Find the value of x. What is the measure of
£YBZ? \p Y
v
mey B2 = 90




10) In ADEG FHisa perpendicular bisector of DG with Hon DG . If i =2y +3, GH=7y-42, and
m£LFHG ={x* +9}°, then find the value of x and y. What is the measure of 06 ?
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11 RS is an altitude of ARTE , m£SRT ={4x —8)°, and mLSTR ={6x + 13)° . Find the value of x.

X=85 i o
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12) In ARTE , TAbisects ZRTE , mZRTA=(3y -4)°, and mZETA =(4y -17)°. Find the measure of ZRTE .
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13) 7A is a median of ARTE, AF =3x -11, and AR =x +5. Find AE, AR, and, ER .

AE=13 )
AR= 13 “F::i>§
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14) Ev is a median of ARET , RY =2z -1, and 7Y =4z-11. Find RT.

E
: /Y\ :
15) Find x and the measure of £ZPSR, if PS is a median. P

X= - W&rwm)’
m<PSR=T72°
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16) Find x, CD, and DB, if AD is an altitude of AABC .
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17) AWHA, if WP is a median and an angle bisector, H
AP=3y+11, PH=Ty—-5, msHWP =x+12, msZPAW =3x-2,
and m/HWA =4x-16, find xand y. Is WP also an altitude, explain? P
=70 DL - .
X=Z0  yes. meXPH =70 a
\,} =9 U Q

CYU Reflection: How far can you go: basic, intermediate, or advanced?
Rate your mastery level!
How confident are you with the skills this CYU covered? Circle the
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Basic Intermediate Advanced Solved ALL!
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